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Q.- Define a set and wrlte some well-known sets of |
~ numbers. |
Ans: |

. Set:- A collection of well defined distinctIObject's 15 called a

- "Set". For example a collection of students of 9th -

~class, members of a cricket team etc o

‘ Sets of Numbers:- . | )

Set of Natural Nurnbers- -:L'{1;2,3..§}' ‘
Set of Whole Numbers = W ;—-‘}0,;1,2,3...}' |
- Set of Integers =Z ={...-3,-2,~1,0,1,2,3...}
Setof Even Numbers =E = {...~4,-20,24..}
~ Set of Odd Numbers = O=1{.-3 ~1,1,3,5.}
* Set of Prime Numbers =P= '2 3, 5 7, 11 13,17.. }
Q.2- IfA {235711} D
={1,3,579}
Fmd AUB and ANB

'Solutlon -

AUB {235711}U{13579}
={1,2,357911}
‘ANB= {235711}n{135 79}

‘-ﬁ5ﬁ
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Q.3- lf A {2 345, B= {2 4,6 8} Then ﬁnd A B and
< B=A. :
Solution:- .
A= B={2345)-{2468 -
B-A={2468)- (2.345)
| =i68 o
Q.4- I ={1,2,34,56 iR A= {3 4 5}, = {1,357}
- Find . (A U B)' and (A N B)' ' :
Solutlon - o
_AuB {3,4.5) u{]'3'5,7} _,
o ={1,3457}) . S
(AuB) =U-(AUB) o T
| = {12, 3, 45.6.7} - {1,34.5,7}
—n6 o |
AnB—- {3,450 N {1,357}
= ’35,‘ S
(AmB)' - (AmB) .
= {1,2,3,4,3,6,71 {3,5} L
={1,24,6,7} - :
Q. 5. Show two sets A and B by Veen Dlagram When.
~ ()  They are disjoint
(i) They are overlappmg
Solution:- - - | : ;
S () The ﬁgure shows that A and B are dISJOlnt e
| . | 1

N ’ i R - 71
R
S T - '
i . - . 3 - . .
*

,7‘ )
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-(n) The ﬁgure glven below shows that A and B are
| ov erldppmg | \
A B
- Q.6- State De—Mofgg‘n's Laws. ©
These laws state that =~
(). (AUBF=ANB
(i) (ANBf=AUB
Q.7- IfA={3,5,6}, B={1,3} then fmd AXB and BXA
. Ans. AxB—83@x03? EREI
" | ,=wumﬂmUOﬂmUM% ,
,BXA—f13}><’336* | )
Nﬂﬂ»ﬂ@ﬁﬂﬂﬂﬁw
Q8- Defind a bmﬁry relatlon from a set A to set B.
‘Ans. If A and B are two non empty sets then any subset of
| AXBis called a bmary relation from Ato B. - - .
If A={1,23,8B {3 4}. Find any two bmary |
~ relations from A to B. ,
AxB{ﬂsa#mﬂmsaﬂm%
R, ={1.3).02.9K3.3)) ~
e R —t(l 4)(34)1
Q'.IO- Deﬂne Domain and Range of a bmary relatlon |
Ans. ItRisa bmary relatlon Then Domam of R is the set of |
| all first elements of ordered pairs in R. The set of all
~ second elements of ordemd pairs in R is called Range of R.
Example : |

R= {(1 3) (2 4) (3 5) (4 6)}
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Ans.

L

Dom R={[1234}
" Rng  R=/3456)
'Q.11- Define a function from a set A to the set B.
Ans. Let 4 and B are two non empty. sets and t 1S a bmary
- ‘relatlon fron 4 to B such -that
(i) Domain.f=4 |
(ii) There is no repetition in the first. elements of ordered .
- pairs in . Then fis said to be a funcnon from A'to B. It
isexpressedas 4 > B
Q.12- Let A={l,m,n},B = {3, 5, 7 o
- Show that f = {(l 3),(m,3),(n,3)} is a funtlon from .
AtoB.
o Solution:-
(i) Domam f=tlmnj=4 "
- First condition is satisfied. |
“All the three ordered pairs in f have different ﬁrst"
~ elements and there i 1S NO repetltlon of first elements
So 2nd condition is also satisfied. '
Thus fis a funtlon from A to B
Q 13- Deﬁne an into function?
Solution:- - | |
| Let f be a function from A to B then § is cal]ed a
funtion from 4 into B if S . .-
Range of f# B e _'_l“
- Example: S o
. If A= {abc, B={xy
Then f={(a,x).(b,x)(c, Y)} is an into funtton
- (from A into B)
"~ Q.14- Define an Onto functlon

Letf be a functlon from Ato B such that
Range f=B. |
Then f is called a funtion from A onto B.
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Let A= cP ‘Ir’”} B- fl vz}

Then J ={(p.x).(q. Wh(r2)} isa funtlon from A onto B

 Becatse. Range f=lxyzl=B '

_ Q 15- Define a one-one functmn ‘ , ,
~ Ans. Let f:A-Bisa function such that second element "
5 ~ ofeach ordered pairs in f' is also not repeated.
Example

f= {(a x).(b, y) (c Z); '

_ Tt is a one-one functron S
Q.16 Let X={7,8,9}, Y={d,e,f} .
“and h={(7,e),(8, d),(9,9)} .
“ " Show that h i is a one-one funtlon from A onto B

Solu’uon - .
(i) Domam h= 789’ X . |
" ,(ii)‘, No ﬁrst element is repeated in h So h is a functlon -
from x to . |
- (i) ‘Range : h={de f} = Y

S0 h is an onto functlon o |

Now again non of the second e]ements 1S repeated

" So thIS funetlon is one-one function.

SOIVED EXERCISES ~~ ©

o EXERCISE 8.1 -

Q.- IfA={1,4,78}, B={4,689}

- and C={3,4,5,7} Find: =

| (l) AUB (i) BuC (tu) ANC (iv) An(BmC)
W AU(BUC) (W) Ar\(BnC) ' '

'-Solutlon- | o |

)  AUB= {1 4,7,8) U {4 6,8, 9 =1 4.6,7.8.9) Ans.
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() BUC=/46,8.9 034,57 =/34.56738.9 Am‘
Gii)  ANC={14,7.8/n{3, 4,57} = 4 7} Ans. |
(iv) ‘Aﬁ(BﬂF} =7 . |

(BN O={4,689} N {3 45 7} ={4}

Now ANBNC) S :
A Ea R C BAC={} ={4) Ans.
W  AuBuC=?
-"gMuB){147& {4a&m£=y4ﬁjﬁyy S

-~ Now - A L.
o (Au'B)_u("-{I 4.6,7,8,90{3,4.5.7}
ST {13456789}Ans. |

i) (AmB)mC 7

- ANB= {1478} {4689} {48}
S Now (AﬂB)ﬂC {4 8} {3 4 3. 7} '={4} Ans
Q.2- If A={,711,15,17, 213, {11 17, 19, 23}
© amd C={235.
,Verlfy that (Ar\B)nC An(B nC)

o 'Solutlon -

ANB= 1711151721}nf11171923}
ANB={11,17} -
“Now (AnB)mC_fumm{ws,
ANBNC=g=¢..)  ~ =
© Now BNC={11,17,1923)n{2,3,5) = }}=¢
 ANBAC)={L7,HL154721ing
. ANBAC= ¢..2)
. Results (1) and (2) show that
SR ,.@‘(AmB)m( Am(BmC) o
'_;"Q.3'.. H A={2,4,6}B=1{3,6,9,12} and C={4,6,8,10}
~ verify that: AU(BUC) (AuUB)UC |
Solutlon—"- v P
A= {246} B ,36912} L

s
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~ We have to show that 4U(BU() (AUB)U(
-To solve the L.H.S. - .
BUC={3691200{4.6810] o
- =/3.4689,1012} |
AUBUC)={2,4,610{3,4638.9, 10,12}
L AUBUO)={2,3,468910,12} (1)
‘Now.to solve the R.H.S. Consider -
- AUB={246}v 36912}
AUB= 2346912,
(AUB)UC —’2346912}u /4,6,8, 10,
C(AUBIUC={2,3,4689,10,12) ()
Results (1) and 2) show that |
- CAUBUCO)=(AUBUC
Q4 If A={2,3,57,9)B= (1,357}
" and C={2,3,4,5,6)
verxfythat (AﬁB)r\C Am(Br\C)
Solutlon We are given that
A= 235793,B ’1,35,7,*
C={23456} o
“ We.have to prove that
(AmB)m( ANBNC)
‘First we will solve L.H.S. Consider
ANB=}{23379}n{1, 35 7} ——{357}
ANB)NC={3, 5. (1)
Now we will solve R. H.S. Consmier
BAC={l, 357}0{2,3 4, 56,
BNC={35) L
"Now ANBNC)= f23579}m 3,5_},
| Ar\(BmC)-f35' '(2)- -
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o fResults(])and (2) show that . ‘A
) AnB)nC ANBNC)
'Q5- If U={7,8,9,10,11,12,13,14} *
. A={110,13,14},
and - B'-{'-/”s 11,12} then
| verify (AmB) —A"uB0 |
Solution We are given that
U= ={7.8,910,11, 13,14}
A=[710,13 '14,'
B= {781112} D
We are to verify (AmB) (A( Q‘;‘BC.)';
TosolveLHS L o
LANB={710,13,14}; 7811 ]2 =,,e"7f
(ANB)=U - (4N B) - |
- ={7.8;91011,12, 13,14} - ’7, |
C (AnB) =(8,910,11,12, 13, 14} (1)
- Nowto solveRHS . | :
A =U-4={789. .14}""—{3‘10,15,14;
| L ={8,911,12) o |
B =U-=B={789:.14-{7.811,13} .
=03, o
ASUB  =§8,9,11,12)\L{9, }0 13 ]4,
A"uBC-’8910111213J4, (2} |
| Results ( l)and (2) show that |
 (AQBf = AUB . . -
- Q6- If U=1{4,6,8,9,10] A»-{"46} B= {689}
We are to verify De Morgans Laws R
(AuB)._Aan‘ and (AN B)* _A‘uBC' “
Solut10n- | - -
| First Con31der (AuB) = A‘mB”* |
TosolveLHS
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 AUB={4.6/01689)
o AUB={4689). '“
" (AUB)f =U~(4UB)"
L ={468.9,101- 14, 6.8, 9,
" (AuB) ={10} . (D) .

TR T TR T

S "NowtosolveRHS
A =U-A={4/689,10}- ’46,
- - =8910F B
 B=U-B= {4689]0, ’6,8,‘9}t'.'
B ,10) R
 Now A UBF =~{8, 9,10}74,10}
= H.Q

© Results (1) and ¢2) show that
(AUBS = ANB N
* Now take De. Morgans 2nd law
(AN B) = A‘uB"' |
To solve the L.H. S. -
ANB={4,6)1{6,89 = {6’ i
(ANB)f =U = (AmB)
. ={4,6,8,9.10)~{6} ° -
. (ANBY _f4f&910} (1)
"Now .
4= {468910, ’46}
o _,8910' |
'7-';]43--.—-(/ B= {468910, {689}
B ={4,10}
AU B ={8,9,10} u{4 ]0}
L ={48910}..2)
* Results (1) and (2) show, that
L AnB=AUB

i
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Q- If {1234,56789}
- A 23,69
and  B={1,3,67.8) then .
verlfy (AUB) -A"nB° ‘ '
Solution:- We are to prove that,
C(AUBS = ANBT
Tosolve LHSS. =~
AUB={23,690¢13678)
={1,23,6738, 9’ A |
(AUB) --l/ —(AUB) o
={1,2,3,.9;- U2367&%¥,j'
(AuB) =/4,5}., (1)

"Nowto solveRHS o

A =UmA={1.23,.9)- 936%
L =11457.8 _
-Be U B=/123.9- ’]3678, |
o ={2,459 1

’AﬂwB"U4578ﬁw2452
AAB={45.2)
From (1) and (2). Weget:
. TAUBf= AN
Q8- Fill in the blanks: R
@ AvA=___ (mj ANA=_
(m) Aud= "(ilv)'} AND=

b et
N
——————

) U= (vi) rmnw
i) (ANB) =_ (vil) (A
(X)) OnD___ .,(n,rAnAa
’Solutnon- P
) AVA=A4 (i) AnA=4
i) AUD=d4 () AnD=0

h) OA®=D - m)  (ANBISAUB
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i) (AVB)=A'NB i) (4y=4
(ix) BAd=0®  (x) And=0

| EXER(ISE 8.2

Q.1- If A={3,5,6}, A={1,3}, Fmd AxB andeA
~ also the domams and ranges of the two bmarv
relatlons estabhshed at your own for each case.
‘Solution:- -~
A=[335,6), B-’13,
 AXB={3,1).(3.3).(5.1),(5,3),(6,1).(6. e
BxA— (1,3), (1 5), (1,6),(3,3),(3,5), (3 6)}
~* Two binary relations in 4x B are |
R ={(3.1).53).51)}
R, ={31), (33)(53)(63); .
Dom R,={3.5}, _ Range R, ={, 30
~ Dom R,={3,56}, Range R,={1,3}
- Two bmary relations in Bx 4 are |
_—wwnwdw SRR TR
R, ={15).3.5)), o T
 Dom R, ={13/ ,Range R, —136; o |
.‘ DomR—¢13;,RangeR~’5f o | |
Q.2- ‘I A={=2, 1,4}, then write two bmary relatmns in
 aalso wnte their domams and ranges. -
S’olutlon- -
A= 14 o -
AxA= {=2,1,4/x{~2,1,4) |
[(=2,72).(=2, D(=2,4)(1,- 2)(1 1)
. (] 4) (4 2), (4,1).(4,4)) .
- Nowany subsetof AxA4 isa bmary relat:on in A.

o Thus two binary relatlons are
R ={(-2- 2) (I, *-2)(4 nt
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R.={(-2.1).(1, 1){41), -

- Dom R, = set of first elements of nrdtn.d pairs in R,

-2!4, |

Rang, R, = set of 2nd elements of ordered palrs in R

=20
Slmllarly . L o
Dom R,={-21, 4; Rang R 1'

Q.3- Write the number .of bimary relations poss1ble in
. eachof followmg cases.

(i) In CxC when the number of elements in C is3. .
(i) In A xB if the number of elements in set A is3and
| in set B is 4. '

Solutlon - | | | |

(i)  Numbers of elements in C = 3 o

Numbers of elements in x( 3x3=9 .
So, number of binary relatlons in C x(
= Number of all subsets of CxC h
= 2* Ans o .
(ii) Numbers of elements in A 3
| Numbers of elements in B=4

Thus Numbers of elements in Ax B - 3 4 12
| 'So, Number of all subsets. of Ax B 2 |

_7 “and number of all posible bmary relatlons in

o i

CAxB=2" Ans. T
1f L={1,2,3}, and M {234} then wrlte a
~ binary relation R such that '

X M
b

R={(xy)xeL,yeMay<x}

- Also write Dom(R) and Range(R)

Solutlon -

L={123} M-—’234,

hM-W@UﬁU#Q&Qﬂ
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(2 4),(3,2),(3.3).(3, 49! |
‘Now R—’(Ay)/xeL veMAv<x, |
-’(22)(32)(33)’- -
. Dom(R) =23/, -~ Rng(R) =(2,3] .
Q 5- If X=10,3,5) and Y ={2,4,8}, then establish any
four bmary relatlons in XxY B ‘
Solutton - :
X><Y {(0 2) (0, 4) (0.8).(3, 2) (3 4)
(3, 8) (5 2).(5,4).05.8)). - |
-Bmary relatlon in XxY is any subset of X xY. So
four binary telations in X xY are.
| _"—- [(0,2),(3.2),(5,2)} -
#mwmmamm& S
R, m&awaa,'vﬁw;;we%w*
| . -f(5 9.54)6.8;
Q.6- If A={ab,c} and B={2,4,6} and
o f ={(a,4),(b, 4),(c,4)} is a binary relation from

, A X Bthen show that " is a functlon from A mto B
Solutlon - | |

.f{mwmwmm

Dom f {abc} A

Now we see that non of the 1 st elements of ordered _
pairs in fis repeated. So fis a funtion from A to B. o
Now. Range(f) {4 }iB IR
~ . Itmeansfisa function from 4 into B.

Q.7- If A={Lm,n} and B={2,4,6}

and g 3 {15 3),(m,1),(n,1)} is a binary relatnon in

Ax B, then show that "g" is A into B functlon . | |

T

o Qolutlon-

_.—Wﬂmumw |
> Dom (@={lmnj=4



| Friendly Notes For szralMathumti:sSl - S . 237

- i - E= SRR SUE Y g

gt Sy— oy .

- We see that non of the ﬁrsl elements ordered pa:rs ing
. 18 repeated. | |

* So g is a function from A to B;_ |

- Now Rng(g) = {(1L3}#8B

os.

It shows thatgis a funtlon trom A into B.

If A= {1 3,5} and B={x,v,7}
and g={(, X)s(3, Y(5.2)} is a binary relatmn from |
~AxB, then show that "g" is A onto B functmn 2

Qolutlon -

={(1.x).(3,3).(5, 2)}

| ‘Dom (©)={1335}

Q-

(i)

(ii)' |

(iii)
(iv).

.

Also non of 1st elemnets of ordered pairs in g s
repeated Sogisa functmn from A to B

‘Now Rng(g)={xyz}=8

It shows that g is a function from 4 onto B,

Review Exercise 8
Enclrcle the correct answer. .
If 4 and B are two non-empty sets, then AU B =7

@®  (B)BUA () ANB  (d) BnA
If A and B are two non- empty overlappmg sets, then -
ANB=

@O ) BaA . (o _AuB LW Bu4
For any two sets 4 and B. AU B=BuU 4 is called:
(a) C ommutatwe law (b) Associative law
(c)l)e-mor;,an s law . (d)lntersectlon of two sets

AuBulj= (AUB)U( is called

(a) Commutatwe law  (h) Associative law

. {c)De- morgan slaw (d)lntersectton of sets
1 U={1,2,3, 4}, A={4} then A'=

(@) 1230 (@) - (d) {1234
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(iv)

-

wi) U= ,'1.2.3,.‘ = {1}. then U~ A4=2
. (Cl) 12,3/ | (b) 1,2}
. (c) 1.3/ .' ) &
i) (AVBy'=? | C
(@ A'UBT . (h) A'NB
() (AN B D
 wiii) (ANB)'=? o
() A'AB b AR
: () ANB ,(d)AuB
‘(ix) IR =}(4.5).0, 4) (.) 6).(6.4)] then domam of R _
T (@) {46 (b) (4.5 (c) (4.3.6]  (d){5.6]
IfR= {4, .)) (_) 4),(3. () (6 4)} then range ot R 1S:
(g ] (b) !5} (c) 6} (4560
Ans. A ST
Wb | b (i) ¢ | b ] vha -
."(vi) a Cii) b (vm) b 1 vix) ¢ (X):] |
Q.2- Fillin the blanks R R
(AvB)= .~
(i) (AnB=?
iy AVBUO=
'Am(Br\()— | e
“v) If 4 and B be lhe two non- empty sets then
| - AuB=BuU A lsadlledthe .
(vi) If A and B be the two non- -empty sets then
o AnB= B A is callede f_,’w_ o
" (viij Any sub-set ofacarteblan,produa iscalleda
i) If Ry ={(1,2).03.4).(5,6)! _then domainof R is____
i) - IER, ={(1,2),(3,4),(5.6)] . then range of R;is_

If f:4—B then every element ot a set 4 has 1ts
image in - | |



: Frie_ndlj Notes For Generul Mathemtics 9 : | e 239

2 Sl B

(i A'nBy i AUB
i) AUBIOC - (i) (AnBIAC
(v) ( ‘ommutative Law (vi) A.é‘ommutali've Law
,(vii) 'Binai“y' relation Vi) 1,350
w2480 | Sa B | .
Q3- I A={1,234,5 6} B-{2._3,4 6) and C={2,3, 4 7,8,93.
| Verify that : (AmB)C Am(BmC) : ’

- Solution:- -

- A~’1.2,3,4,5,(' [)’-’2346}
=/2,3,4,7.8,9]
We have to prove 1I1at |
V(AmB)m( ~Am([?m()
Tosolve LH.S
- AnB=/l, 23456'n,’2346} =;234rsf
(ANBIAC = 2346‘(’\'234789, = 34, (1)
'Nowtoso]veRHS . T
. Bﬁ,(l-’,2,34(), ’234789'-‘234,
ANBNAC)={1,234.561}23.4} -={234’ (2)
Results (1) and (2) show thdt(AﬂB)f\( =ANBNC)
Q4- 11 A={2,3,4}, B={3;6,9,12} and C={4,6,8,10}. - _
~ Verify that: AU(BUC) AvBLC
" Solution:- g

A'-’234,’B~’36912'- :
(=46810 '

'We have to prove that
AUBUC )= (AuB)uC.‘”

: TosolveLHS : | |
- BuC= {36912}&){46810’ ——'34689]0['”..
AUBUC(C)= ’234}U{346891012,

={2346891012).(1)
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Now to solve R H S
(AUB)=/2,3,4/0(3,6,9,12]
L ={2346912 -
(AvB)wu(C={23460912}0{4, 6,8,10]
4 ={2; 3,4,6,8,9.]() 12, ()
| ‘_Results (1) and (2) show that =
AUBUC)=(AUB)UC |
Q.5- If A={2,3,4) and B={1,3}. Find AxB andBxA.
Also establish two binary relatlons each from these
. cartesnan prnducts ‘ ’

Solutwn- o \
A=1234), B_f13l |
AxB—3234}x’13, o -
={(2.1).(2,3).3, .3 3).(4, 1) (4,3)}
- Two binary relations in AxB are .
R ={2.D.3.0).0410))
R, ={(2.3).3.1).3,3).04,1)}
Now BxA={1,3]x{2,34} |
o =HL2)(L3)(, 4) (3.2), (3.3).3, 4); ._
| Two bmary relations in BxA are
={(1,2).(1, 4).(3,3); |
={(13), (1:4).(3,4), (3 2

- Q.6- "erte the number of bmary relatlons possmle in
| each of the following cases.
(i) In CxC ‘when the number of elements in C

~ared4. ,

. (i) In AxB o if number of elements in A are 2 and

“inBare 3. | = | |
o Solutlon-‘ : o

‘;(i)- Number ofelement% inC=4
' Number of elements in C xC=4x4=16
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- Thus Number of all subsets of Cx(C =20
- So Number of all Binary relaitons =200,
(i)’ Number of elements of 4=?
"~ 'Number of elements of B=3
N'umber of elements of AxB=2x 3= 6 ‘
Thus Number of all subsets of Ax 8 =2° = 64
~ So Number of all binary relation in AxB =64
Q_7- IfR = {(a,b)a,be W, 3a+ 2b = 16} Find its domam B
“and range R. S |
Solutlon - -
‘R= {(a b)a beW, 3a+2b 16}
Con31der the equation
© 3a+2b=16
Put a= 9, 2Jand 4 .
Fora=0=b= 8:‘»(0 8)eR
| ‘Fora 2=b= S=>(2 5)eR
E Fora 4=>b=2=>(4, 2)eR
 Now R={(0.8.2.5.(4,2)) |
~ Dom(R)={0,2, 4}
- Rang (R) = {2, 5, 8}

Mulhple Cholte Question o

-Q.:l-_ The set [q Psq€Z AGF 0] is the set of

(a) Real Number_s  (b)  Rational Numbers |
- (¢)  Irrational Numbers - (d)  Prime Numbers

Q2- Zero=0,'is’ o
(@  Anevennumber * ()  Oddnumbers .
(c) | Imaginary numbets (d).  Irrational numbers
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Q3-
(@
()
Q.4-
(@ A
Q.5-

(@ A°°

| Q.6
(@)

(7
Q.7-

"AUB=

{jc/jceA vxeB!. (b “‘.{'x'/?-x'éA Axe B}

{x/xeA nxeBl (d) {x/xeA AxeB,

The set {x/xeU A x EA} is equal to

) 4 () A (d) A-B

The set {X/XEA A X ¢ B} is equal to

b) B - (c) A-B - (d) B-4
AU(BUC)= (AUB)LC is the law

‘De Morgan - ) ~ Commutative

~ Associative ~ (d)  Distributivé (
In the venn dlagram two sets A.and B are such that

(@ AcB (b)) B4 - (¢ Overlappmg (d) DlSjOlnt

Q.8-
(@)

. (c)
Q.9-

"
(c)

Qu10-

- relations in AxB are

(@

C QI

(@
(c)

- @.-
(2

The statement (Au B) =A“NB  is of
. Dlstrlbutlve law (b) Assoc1at1ve law

De- Morgans law (d) ' Commutative law
If A= u23456}mmlJ{1231m

Then A€ is equal to -

246810, @) (13579

{7,8,9.10] o | @ {1234 |
If A={1,2,3}, B= {y,z} then all the bmary'

6 ) 9 @ 32 @ 64
R ={(1,2),(1,3),{2, 5) (3 10)} isa bmary relations.

Its Domain is.

123y {_1;2,3}

(235100 (@ {1.23510]

If A={a,b} , B={x,y} , Then the function from
AontoBis . . - |
{ab%)} B (b (@)

{fax), @y} @ {bX.bY)
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Q. 13- Iff is a function from A to B such that Rang F B
R Then it is a function

@ o . @) oma"

e A

_{¢)  One-One (d) * Correspoundmg
o Q‘.l4- A one-one and onto function is called

(@  Injective . o Surjective

'(cr)l.' Buecuve N (d) ‘_()bjec__tii/e"r

' Q.15- If A and B are disjoint sets then -~
(@ ANB=® - (b)) AUB=®
@ 4= B=a

| . MODEI. CI.ASS TEST

Tlme 40 -mins - Max Marks : 25

Q.- Tich the best choice.

(i)  Thelaw AUB= BuA is called

| (a) De-Morgan o _(b)' | _AssoCia_tive )

. () Commutatwe (d Distributive

() I R={(13)(1:4.2.3) Then Dom(R)=
(a) ._'.{112’ - (b)_., {12}
@ {334 o B4

(iii) - If"fisa functlon such that non of 2nd element of
- ordered pairs in fis repeated ‘Thenfis called

(a) Onto (b) into - {c) One One A{d) Bljectlve

(iv) Complement of umversal set is equal to -

| (@  Universal set ()  Empty set

(@ Subset - (d  Superset
W AUBfiseqult
@ AUE . (®  (ANBf

(c) AnBE ~ d @
L i) AU 1sequalto . S
@ A W 0 () 4ne (d) A
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wii) {24/N{13,5) isequalto o
@ {3} B {24 @ (@ (12345
Q.2- 'Attempt any five of the followmg short questlons
() If A={ab.c}-and®B = -{a,ei0u)
- Then find AUB and ANB -
) WU={123..10) and A={1.234}
- Then figd 45 - R
Gii)  IfU={1,23,.100 and B = {1 234}
Then find BUB¢ =
(iv) If R={(1,5),(2,6).(2, 7).(3,7)
| Then find Dom(R) and Rng(R)
v)  IfA={567} B={12} Then ﬁnd the function
" fromAonto B ’ |
vi) I A= {a,b,c,d} andB {1,3} |
o Write a bmary relatlon from A to B Wthh 1s nota
function. - '
<. Attempt any two of the following questwns
Q3- IfU={12,3,. W9}, A=1{2,3,6,9}, {13678}'
~ Thenverify (AUB)*=A“nB"
Q4- If A={2,3,579}, B={1,3,5,7}, Cs—{23456}
. Then verify (Ar‘\B)r\C An(BNC) -
Q.5 If A={1,3,5}, = {2,4,6} Then find Ax B and a
| ? b mjective functlbn from A to B | -



